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Tag 4 h M. 6 h M. 8 h M. IO 1 ' M. O u 2 h Ab. 4h Ab. 6 h Ab. 8 h Ab. 10 k Ab.

Wolkendichte.

15. Oct.
16. „

17. „

18. „

19. „

20. „

21. „

3—4
4
4
3
4
3

3-4

4
3

3—4
4
4
2
4

Wolkenzug vom

15. Oct.
16. „
17. „

18. „

19. „

20. „

21. „

W.
w.

s.

s.w.

s.
w.

s.

s.w.

4
3
3
4

3-4
3
4

S.
S.W.
s.w.

s.

s.w.

Windes-Richtung und Stärke.

15. Oct.
16. „

17. „

18. „

19. „

20. „
21. „

W. 1

S. 2

S. O. 2
W. 1

S. W. 0

4
3

2- 3
3— 4

3
2
4

s.
s.w.
s.w.

s.

0.

S. 0 3
W. 3

s. w. o

4
4

2—3
3
1

0—1
4

S.w.
s.

s.w.
s.w.

s.
s.

N.W.

S. 0. 1
W. 3

N. O. 1

O.
0.

3-4
4
2
3
1
1
4

S.W.
S.

S.W.
S.W.

s.
s.

N.W.

S. 0. 1
W. 3

N. 0. 1

N. O. 1
N. W. 0

3
4
2
4

0—1
3
4

S.W.
s.

s.w.
s.w.

N.W.

S. 0. 1
W. 2

N. W. 0
N. 0. 1

3
4
2

2-3
0
4
4

S.W.
S.

S.W.
s.

N.W.

S.W.
s.

s.w.

3
4
4
1

3-4
0
4

W.
s.

s.w.

w

w

0 = Heiterkeit.

1 = Ein Quadrant so

bedeckt , dass

die Sonne nicht

durchdringt.
2 = Halber Himmel

so bedeckt, dass
etc.

3 = %Theildes Him
mels etc.

4 = Vollkommen trüb.

0 = Sehr schwacher

Wind.
1 = SchwacherWind.

2 = Starker „

3 = Heftiger „
4 = Sturm.


